5.5 Solving Polynomial Equations

Honors Algebra 2
Difference of Squares a? - b (o.-b) (o +b)
: “nlo
Sum of Cubes a’ +b’ (o +0)( 6®-ap + bZB m‘?.\:, plos’
Difference of Cubes a®- b (o= 0% +cb + bz)
Factor each:
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4x3 + 2x2 - 2x -1

= (Hx3+2’<2> * (-Zx-b
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' + 22+ GCR
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= (5a-D(20+7)
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8r3-64r2+r—-8

‘-‘(%\‘3—(9"\(2) + (r-&)
=g (r=8) + (r-%)

2 (r-2)(Rc7% +1)
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(4):6 + 36% xBy — Qy)

a(x@+9) + - lxs + 9)
4y (B-9)

Factor each expression completely:
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done So\c:\br\va
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0= (x» "0\3( X -%
O= -6 © c
Use the zero product property to solve:
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5. 3x° + 15x = 18x°
5
o1z x>+ BX =0

3x (x1-Lx*+3)=0
ax (x2 =) (x%-D =0
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G - -D=0

O - D +D X =Dx +D)=Y

=270 x+220
-2

x243z0

R LIz X372

KE-320

+ X
x=%{a

X3 s NE) ‘-\'»'LB/ "'—Z\

Vy

8 x> +1000=0
(% + \O(x*- 16x +100) = O
#PNMC
O £ jaor-H4 OIS
2\
w1 ,i\OO W00
: _  ——
2
\o x Y-—;&:
2
o= 1oLd3
Mo = s
2
51 sLI3
[—

X*l0 =0
=z =10

b 4

| x=-10, 5-.*.5'«.61




5.5 Solving Polynomial Equations
Honors Algebra 2

Fac®or the following:

9 CSax + 4bx + 4C)b+(6ay +3by + 3cy) 10. 20fy — 16fz + 15gy + 8hz — 10hy — 12gz

= Ux(2a+b+)+ 3y (26 +o+ Q) =<?-°$g * 1594 - b“\@*(—\k&a +3n2 _\13%
= C“‘ > "‘3@(20 +b +C) =53(LH’ +39- 2h) +

(-4 -2n + 2)
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13. 150n® + 40n* - 15 14. y® +12y3 +8
5(30 T —2) connet  be  Factored

connet  be fockored
Lforther







